Annual Examination

Saction-A

Multiple Chelca Questions (MCQ's)
1t Choose tho corroel Answer for sach from the glven optiona:
) Iftha distanos hatwesn twn chargad bodies s halved then magnitude of the alectric

betwean them becomos.
(a) Double (b) Haif {c)Fourtimes (d)Oneforth
The unitof electromotive force is
(&) Eheclion voll (L) Nowion  {c) Voil (d) Kllowatt hour

irobaric changee in a gas show hitat hiro ja not ehanga In:
(i) Internal energy (b)Pressure  (¢)Volume  (d) Temperature
Lons's lawis in asocordance with the iaw of conservation of.

(&) Mass (b) Momantum (c)Angular momentum {
(d) Enorgy

Tha propertes of are almilar to the alpha particles,

(n) Protons (b) X-rays (c) Electrons  (d) Noutrons

TToF la aqual to; /

(a}16C (b)26.C ()36C (d)asC

Charge per unitaron |y callod;
(@) Eloctric fux (b)Charge denalty (o) Electric intenaity
(d) Electronmotive force
The mass ofa position s equal 1o the mass of
(@) Proton (B) Neutron (0)Electron  (d) Photon
) When alsctrons in hydrogen atoms jumg form higher obrbits of the first orbits, the set
lines emitted is called. . '
() Protuns are added (b) Positron are added
'(e) Clectrons are added (d) Eslctrons are remwoved
) Whenolectrons in hydrogan atoma Jump from highor orbits to the st arbit, the sot of
amitted is colled,

{a)Lyman serias (b) Baimer sarles
(c) Paschen serles (d) Pfund series
Ix)  Thedireciion of Induced currant Is given by:
{a) Ampere's law (b) Gauss's law () Faranly's lew
{d)Lenz's law
{xll)  Fahrenholit and celclous scales conincide at:
(@)-273 (b)+40 ()0 (@
(i) A bela particle in |
(n)Ahydrogoen nucleus (b)Ahollum nucleus (c)m%amm
(d)An electron or a position L.
(xiv)  aim of an eaotran was determined by: Q y
(a)Faraday (b)Millikan  (c) Rutherford (d) Thomsap”,

{xv} 1 ohm and 2 ohm resistances are combined in series. If electric curro ing
theough 1 ohm resistance is 2 Athen the current flowing through 2 ohm resistance

(8) 1124 {b)1A (c)2A (d)4A
{ovi)  If & slab of dielectric Is inserted between the plates of a charged capacitor then
capachiance. O

(a)incroases (b) deceensns (o ramaina the samo ’/0

(d) hacomes zera :{-
(xvil}  Inp-type sami-conductors, the majority of the charge are:

(a) Eelctrons (b) Holes (c)Nevtrons  (d) Protons

Section-B

Short Answer
ml\m any EIGHT fo the following questions, Each question carries 05
Q.2:  Why mercury is preferred in a thermometer for the measurement of temperature.
Give any five reasons?
Q.3 Theairpressure in the tyres of a car increases during driving, Explain,
Q4:  Calculate nbsolute potental st 25 cm distanon from 5 C charge.
Q.5:  Dobends in a wrie offoct ts oloctrical resistance? Explain.
Q.6:  Awlre carries a current of 1A, How many elections pass a point in the wire in one
socond?
Q.7 Aproton of charge 1.6 x 10- G and mass 1.67 x 10+ Kg I8 1o be held motinlees
betwean two horizontal paraliel piates 5 ¢cm apart. Find the voltage required o apply
batweon the plates, s
Q.8 Why must an ammeter be connacted in serles and a volimetar in paraliel in a clreult?
Q9. Both polentin! ddference and electromative force are measured in Volt, Are they.
same? Explain,
Q.10:  Atwhat speed, would the mass of an olectron be doubled?
Q.11 Ifwe suceaad in stopping & photon than what happens? Explan,
Q12 Wrile ar - five propes lies of good coolant used s nucleeas reactor,
Q.13 Whatle' . elfect of a dielectric on the capacitance of a capacitor? Explain.

Section-C

Descriptive Answer
wnswer any TWO of the following questions. Each question carries 14{7+7)

Q.14(a) Cive tha pestulates of Cinstain's spacial thaary of relativity and disouss the
g




|
I

(b)  Siate and explain fist law of thermodynamics and give Isachoric and isothermal

.16(m) Three aapacitance of differsnl values mee given. How should they be comblned to
Ive minlum and maximum capacitance, explaln with the halp of diagram.
) Give corsbruction and working of & moving coll gelvanometer. How can it be
mmdmmnmmﬂm
[Q.16:  Wrile notes on any TWO of the following:
a) Torokd (b) Nucioar finsion
©) Combination of resistances {d) Compton effect



